3 FBRHAFREIXFE
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GG 7 JE 0 1 D A O ) | R S K 53 1)

(BT :mg/L)

i XET A 4 mEh mEh mEh MMELTH MELTH
HXETff =2 —R 206 206 206 209 209
HIX A ST BT /NE R BT T A ey T ST =ik
X 0310 0730 0740 0010 0010
P& 000400 000100 000100 001600 001700
FHP TR (m) 10 B/ T~EH 100 100
T ;] ;] ;] RRAF RRAF
FERK 5y Z D Z D1t AERK IERAK IERK
BRKEA H R5.11.9 R5.11.9 R5.11.9 R5.10. 23 R5.10. 23
KR (C) 16.5 18.8 19.5 17.0 18.0
B RARE R (mS/m) 41.5 16. 1 8.8 20.3 16.0
pH 6.6 6.6 6.5 6.8 6.6
=5 0.016 < 0.005 < 0.005 0.012 0.014
i CHT A4 MFELTH MFELTH MFELTH MFELTH MELTH
HPXET Ry —R 209 209 209 209 209
XA 5L 5L 5L ST =ik
H X 0010 0010 0010 0010 0010
P& 001800 001900 002000 002100 002200
FHP TR (m) 100 100 B 80 8
i RAF RAF B B B
&K 5y IERK IERK — iR — iR — R ER A
BKEA H R5.10.23 R5.10.23 R5.10. 23 R5.10. 24 R5.10. 27
KR (C) 17.5 17.3 16.5 15.6 15.8
BRASE R (mS/m) 21.0 24.3 156.0 15.5 22.3
pH 6.8 6.8 1.0 6.6 6.9
=5 < 0.005 0.011 < 0.005 < 0.005 < 0.005
i CHT A4 MFELTH MFELTH MFELTH MFELTH MELTH
HPXET Ry —R 209 209 209 209 209
XA 5L LA NS RISEA RISEA
X2 5 0010 0010 0020 0020 0020
HEEE 002300 002400 000500 000600 000700
FH P TREE (m) 100 50 52 T~ T~
&R F N FN EN PN PN
K5y — iR — iR — iR — iR — iR ER A
KA H R5.10.23 R5.10.23 R5.10. 24 R5.10. 24 R5.10. 24
KIE(C) 16.5 16.5 15.6 17.0 17.4
BRI R (mS/m) 16.5 13.4 23.2 20.8 17.0
pH 6.8 1.4 1.4 6.5 6.7
=5 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
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GG 7 JE 0 1 DR O ) 1 IR 5 K 53 2)

(BT :mg/L)

X HET A4 MMELSTH MMELSTH MMELTH
XA A —R 209 209 209
X 4 NS NS NS
HIX 5 0020 0020 0020
HAES 000800 000900 001000
FHFREE (m) 10 PN PN |
ARSI B B T
FIRX 5y — A% ER A AERAK AERAK
BKHEHHR R5.10.24 R5.10.24 R5. 10. 24
KIE(C) 18.1 15.5 15.4
RS EE (mS/m) 18.5 21.2 24.0
pH 6.3 6.6 6.9
=3 < 0.005 < 0.005 < 0.005

- 224 -




GG 7 JE 0 1 DR O ) 1 IR 5 K 53 3)

(BT :mg/L)

- 225 -

LIRS mEm mEm mEm mEM mEM
XA R 22—k 206 206 206 206 206
X 4 LR R EAT | UE R A WLET| WhERSOEE | WRRRSOHE [ LhRRET R
HXF = 1070 1090 1100 1100 1110
HEES 000100 000100 000100 000200 000100
FH R (m) 5 T~EH T~Hf 5 THA
e RHF EZHF TBA TBA TBA TBA
R&X 5 — &R A Dt Dt Z Dt Z Dt
BOKEA B R5.12.14 R5.11.9 R5.11.9 R5.11.9 R5.11.9
KIR(C) 10.3 18.2 17.3 17.8 19.5
BRIREZR (mS/m) 23.6 10. 1 9.3 1.1 1.1
pH 6.6 6.4 6.8 6.7 7.0
TR 0.89 < 0.08 0.09 <0.08 0.10
7 X AT F+ 44 mEm mEm mEm

XA A= —R 206 206 206

Hi1 X A werRRE+Rer | (LR SREET | iR R £ AT

HXF = 1110 1120 1130

HEES 000200 000100 000100

FH R (m) 2 7~EH 10

e RHF TBA TBA TBA

Ri&X 5 Dt Dt — &R A

BOKEA B R5.11.9 R5.11.9 R5.11.9

KIR(C) 20.3 18.8 17.7

BRIREZR (mS/m) 12.9 8.4 8.8

pH 6.7 6.1 5.8

TR 0.10 <0.08 <0.08




GG 7 TR0 M D A (IR T S Hi 57)

(BT :mg/L)

7 X ET S 4 &Rt &Rt &Rt ®R™ ®R™
BT = —R 201 201 201 201 201
HIX A A= SEAM S HT =) AT =)
X35 0010 0010 0010 0010 0010
A& 003900 004000 004100 004200 004300
PR (m) 100 81 100 10 80
A A~BA A~BA A~BA A~BH A~BH
X 5y T Dfth D D — R ER A Z D
PKEH H R5.11.9 R5.11.9 R5.11.9 R5.11.9 R5.11.9
KIR(C) 17.6 14.9 15.0 16.5 17.9
BB XURE =R (mS/m) 14 16 17 13 15

pH 1.1 1.4 1.1 1.3 1.4
DA=i=5% 4 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VOtV PR < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
L2~ ruux iy < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004
1,1->/onxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/nnxFL < 0.004 < 0. 004 < 0. 004 < 0. 004 < 0. 004
1,1,1-R)rmnxi < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0. 0005
1,1,2-R)rmnxi < 0.0006 < 0. 0006 < 0. 0006 < 0. 0006 < 0. 0006
NZonxzFL < 0. 001 < 0.001 < 0.001 < 0.001 < 0.001
VA NZA= =5 < 0.0005 < 0. 0005 0. 0005 0. 0005 0. 0005
i CHT A4 2R 2R 2R R R
XA A= —F 201 201 201 201 201
XA £ H A HT A FNET =$HT RIH fRigEy
X35 0020 0020 0020 0020 0050
Hr& 008900 009000 009100 009200 002100
FH PR (m) 81 80 130 100 10
&R A~BA A~BA A~BA A~BH A~BH
& 5y TIERAK Z Dt ASERK Z D Z D
PKEH H R5.12.5 R5.12.5 R5.12.5 R5.12.5 R5.11.9
KIR(C) 13.0 12.8 156.5 12.8 18.5
BB ZURE = (mS/m) 15 11 19 13 18

pH 1.4 1.1 1.8 1.4 1.7
D/A=i=3 % 4 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
POt P 3R < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
1,2~ /mux iy < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004
L1-Y/noxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/nnxFL < 0.004 < 0.004 < 0.004 < 0.004 < 0. 004
L,1,1-N)rmenxz < 0.0005 < 0. 0005 < 0. 0005 < 0. 0005 < 0. 0005
1,1,2-M)ruox X < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0. 0006
N Zonz=F1L < 0. 001 < 0.001 < 0.001 < 0.001 < 0.001
Fh7runxFL 0. 0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
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